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Chapter-2: Addition, Subtraction and Their Applications  

1. Add the following: 

a. 4,65,90,542  and  2,73,97,684    b. 1,64,85,649 + 60,78,435 + 3,56,748  

 

 

 

 

 

 

 

 

2. The populations of two cities are 45, 82,850 and 86, 09,775, respectively. Find the total population 

of two cities altogether. 

 

 

 

 

  

 

 

3. Subtract: 

a.   1,93,45,987 from 3,52,63,17    b. 5,19,02,502 - 1,37,98,176 

  

 

 

 

 

 

 

  

 

  



4. Shivani had Rs.25,08,485 in her bank account. Out of this, she purchased a car for 

Rs.8,50,245. How much money was left in her bank account? 

 

 

Grade 5 Maths worksheet  

Chapter 3 Multiplication , Division and Their Applications 

 

5. Solve and match the following: 
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 6 7 3 4 1 

  6 3 9 2 2 

      

  

  

  

 

6. Fill in the blanks: 

a) 909 less than 3,723 = ____________ 

b) 8592 less than 86,466 = ___________ 

c) 8,259 more than 92,616 = _________ 

d) 460 more than 75,186 = _________ 

e) 84380 + _______ = 84400 

f) _______ - 9162 = 1811 

 3 1 5 6 1 

  2 1 7 5 5 

      

 9 8 9 8 9 1 

  4 7 2 3 5 6 

       

1 8 2 3 1 6 

  9 8 4 6 1 

      

 2 4 9 9 9 5 

  1 1 8 7 3 2 

       

 3 6 2 1 1 8 

  1 5 5 4 1 7 

       

 7 7 3 1 0 5 

  2 7 5 4 3 1 

       

 9 6 5 8 7 

  4 3 2 7 1 

      

 2 4 8 3 7 9 

  2 4 9 2 9 5 

       

 8 3 5 2 1 0 

  5 5 4 4 3 3 

       

 



Q7. Decide whether there is Profit or Loss in each of these products with the help of bar models: 

   

 

 

Cost Price = Rs. 1,680  

Selling Price = Rs. 2,390 Compare C.P            S.P, 

 Is it Profit or Loss = _______ 

Q8. Complete the table by finding the missing cost price or selling price: 

 Cost Price Profit Loss Selling price 

a Rs. 1,095 - Rs.89  

b Rs.3,586 Rs.369 -  

c  - Rs.1,020 Rs. 8,360 

d  Rs.2,315 - Rs.74,365 

 

Q9. Find the final cost of each item, then calculate profit or loss. 

 

 Cost price Over heads Final cost S.P Profit/Loss 
amount 

a. 8500 450  9200  

b. 5600 200  7500  

c. 10000 500  12000  

 

S.P= _____ 

C.P = _____ Profit / Loss =____ 


